14. Recommendations of the Superintendent of Schools

(at this time the Board will take formal action on the following items)

A. PERSONNEL

1. Appointment - Certificated Staff

Move to approve the appointment of Dr. Tania Herzog as Director of Special Services, 12 month position, at the salary of \$133,750/year (prorated) effective July 1, 2017 or upon release from her current district through June 30, 2018.

2. Summer Work - Edgar Middle School

Move to approve the following for summer work at Edgar Middle School:

Position	Name	Time Period	Rate*
Guidance	Lisa Chango	3 days in August	\$520.42/day
Guidance	Lauren Campbell	3 days in August	\$287.29/day
Technology	Maryrose Little	3 days in August	\$380.65/day

3. Summer Work - Guidance Department Metuchen High School

Move to approve the following school counselors for summer work at Metuchen High School:

Counselor	# Days	Rate*
Leigh Hanbridge	5	\$389.72/day
Elizabeth DeMott	5	\$319.92/day
Traci Grauer	5	\$495.34/day
Judi Cheung	5	\$534.05/day

4. Summer Work - Metuchen High School Peer Leadership

Move to approve Peer Leadership Trainers at their per diem rate for two (2) days:

Name	Per Diem Rate*
Laura Connolly	\$319.92/day
Chris Giddes	\$282.53/day

5. Summer Work - Metuchen High School Weight Room Supervisors

Move to approve the following as summer weight room supervisors at the rate of \$25.00/hr.* as needed:

Ed Albanese	Lauren Butler	Mike Knoth**
Michele McCorkle	John McDonald	Nick Zaneto

^{**}not a member of district staff

^{*}Amount may change based upon settlement of contract

6. Metuchen Summer Institute High School Programs

Move to approve the following teachers for additional guidance and support to students preparing for college admissions, the application process and algebra courses:

Instructor	Topic	Stipend/Session or Hourly (# of sessions determined by enrollment)*
Lauren Volosin	Writing the College Essay	\$1,000 per session
Diane Kuenzel	Writing the College Essay	\$1,000 per session
Jonathan Stevens	SAT Prep Course	\$1,500 per session
Jane Harmon	SAT Prep Course	\$1,500 per session
Elizabeth DeMott	Tackling the Common Application	\$53.32/hr.
Janis Lewandowski	Algebra 1 Prep	\$84.17/hr.
Sherry Lifson	Algebra 1 Prep	\$83.25/hr.
Janis Lewandowski	Algebra 2 Prep	\$84.17/hr.
Sherry Lifson	Algebra 2 Prep	\$83.25/hr.

7. Metuchen Summer Institute – AP Edge: Pre-AP Preparation

Move to approve the following teachers for pre-advanced placement instruction in support of students, MHS Summer 2017:

Instructor	Subject	Stipend*
Lauren Volosin	AP Language & Composition	\$1,000
Eileen Wagenblast	AP Language & Composition	\$1,000
Adam Levy	AP Literature & Composition	\$2,000
Chris Giddes	AP US History: Part 1	\$2,000
William Schlavis	AP US History: Part 2	\$1,000
Jim Thomas	AP Statistics	\$1,000
Jonathan Stevens	AP Calculus	\$1,000
Josette Siebles	AP Chemistry	\$1,000
Martin Holleran	AP Biology	\$1,000
Yoko Kato	AP Environmental Science	\$1,000
Joseph Keagle	AP Physics	\$1,000
Kathleen McKeown	AP Art History	\$1,000
Kathleen McKeown	AP Studio Art	\$1,000
AP Music Theory	Stefeny Stofa-Kromholz	\$1,000

8. Rescission & Amendment- Co-Curricular Salaries

Move to approve the following rescission and amendment of co-curricular salaries for the 2016-2017 school year as shown on the chart listed below: (Agenda 6/26/16, Section 14, A13)

Campbell Elementary School						
CO-CURRICULAR Stipend Dec./Jui						
Rescind:						
Breaking the Chain Club Gr. 1-4 (A ½)	Lisa Levin	\$508.50	\$254.25			
Amend:						
From: Breaking the Chain Club Gr. 1-4 (A ½)	Franchesca Hunt	\$508.50	\$254.25			
To: Breaking the Chain Club Gr. 1-4 (A)	Franchesca Hunt	\$1017	\$508.50			

^{*}Amount may change based upon settlement of contract

9. Extended School Year Staff - Special Services

Move to approve the following as staff for the 2017 Extended School Year Program:

In-District Teachers Extended School Year 2017

Name	Program	Per Diem*	Per	# of	# of	Total*
			Hour	Hours	Days	
Katie McKenna	Elementary ABA	\$273.61			22	\$6,019.42
Brittany Okoszko	Teacher K-1	\$282.53			22	\$6,215.66
Sivan Peleg	Elementary MIPP	\$341.99			22	\$7,523.78
Alaina Warakomski	Elementary (1-2)	\$296.04			22	\$6,512.88
Julie Hertzog	Elementary (3-5)	\$446.50			22	\$9,823
Beth McLaughlin	Math	\$278.21			17	\$4,729.57
Marilyn Lewis	Secondary Reading	\$508.79			17	\$8,649.43
Kathy Rice	Teacher Self-Contained	\$380.65			22	\$8,374.30
Elissa Cadel	H.S. Program	\$289.02			22	\$6,358.44
Janice Billik	School Nurse	\$474.05			22	\$10,429.10

Total: \$74,635.58*

Related Services In-District Extended School Year 2017

Name	Program	Per Diem*	Per Hour*	# of Hours	# of Days	Total*
Tiny Tots,	ESY		\$75	48		\$3,600
Inc	O.T.					
Lori-Anne	ESY		\$88	33		\$2,904
DiSerio	P.T.					
Puzzle	ESY		\$82	36		\$2,952
Solutions	BCBA					
Laurie	ESY	\$499.42			13	\$6,492.46
Walker	Speech				days	
TBD	ESY Speech				13	TBD
					days	

Total: \$ 15,948.46*

^{*}Amount may change based upon settlement of contract

Paraprofessionals Extended School Year 2017

Name	Program	Per Hour*	# of Hours	Total*
Kathy DeNicola	Para-Professional ESY	\$21.26 99		\$2,104.74
Debbie Gold	Para-Professional ESY	\$19.06	99	\$1,886.94
MaryJo Paulmenn	Para-Professional ESY-MIPP	\$17.86	99	\$1,768.14
Amy Artman	Para-Professional ESY	\$17.56	99	\$1,738.44
Judy Hoffman	Para Professional ESY	\$17.56	99	\$1,738.44
Jeana Torzilli	Para-Professional ESY	\$17.31	99	\$1,713.69
MaryBeth Hronich	Para-Professional ESY	\$17.31	99	\$1,713.69
Mary Sutherland	Para Professional ESY	\$17.31	99	\$1,713.69
Lisa Amend	Para-Professional ESY	\$17.31	99	\$1,713.69
Farhana Omarzai	Para-Professional ESY	\$17.11	99	\$1,693.89
Gresy Johnson	Para-Professional ESY	\$17.11	99	\$1,693.89
Danielle Mauro	Para-Professional ESY	ssional \$17.11 99		\$1,693.89
Roseanne Fisher	Para-Professional ESY	\$17.11	99	\$1,693.89
Farhana Khan	Para-Professional ESY	\$17.11 99		\$1,693.89
Danielle Movsesian	Para-Professional ESY	\$17.11	99	\$1,693.89
Jennifer Lesniak	Para-Professional ESY	\$17.11	99	\$1,693.89

Total: \$27,948.69*

^{*}Amount may change based upon settlement of contract

Substitute Teachers/Paraprofessionals (As needed) Extended School Year 2017

Name	Program	Per Diem*	Per Hour*
Danielle Weitzner	Substitute Teacher	\$90	
Tara Tay	Substitute Teacher	\$90	
Eileen Kuchar	Substitute Teacher	\$90	
Jennifer Pasquale	Substitute Teacher	\$90	
Roxy Aggarwal	Substitute Teacher	\$90	
Samanta Jackson	Substitute Teacher	\$80	
Saadia Rizwan	Substitute Teacher	\$85	
Karen Capron	Substitute Paraprofessional		\$17.11
Samanta Jackson	Substitute Paraprofessional		\$17.11
Tara Tay	Substitute Paraprofessional		\$17.11
Roxy Aggarwal	Substitute Paraprofessional		\$17.11
Gail Zelley	Substitute Paraprofessional		\$17.11
Hope Serratelli	Substitute Paraprofessional		\$18.86
Josephine Czochanski	Substitute Paraprofessional		\$17.11
Roseanne Giegerich	Substitute Paraprofessional		\$17.11
Jessica Kovacs	Substitute Paraprofessional		\$17.11
AnnMarie Sorg	Substitute Paraprofessional		\$17.11

^{*}Amount may change based upon settlement of contract

Child Study Team Extended School Year 2017

Name	Position	Per Diem	# of Days	Total*
		Rate*		
Alissa	Psychologist			
Trapanese		\$367.64	18	\$6,617.52
Christina	Psychologist			
Theiss		\$389.72	18	\$7,014.96
Karen	Learning			
Calantoni	Consultant	\$292.11	9	\$2,268.99
Christine	Learning			
Cuthbertson	Consultant	\$495.34	9	\$4,458.06
Deneane	Learning			
Bonassisa	Consultant	\$430.88	9	\$3,877.92
Karla Riera	Learning			
	Consultant	\$423.75	9	\$3,813.75
Lisa Granados	Social Worker	· · · · · · · · · · · · · · · · · · ·		
		\$367.64	10	\$3,676.40
Evette Collier	Social Worker			
		\$520.92	10	\$5,209.20

Total: \$36,936.80*

^{*}Amount may change based upon settlement of contract